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Question Number : 1 Question Id : 40503610402 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let A={1, 2, 3}. Define a relation R on A

as :
aRb = |a2—b3=5.

Then which of the following is not true ?

R-1=R, where R ! is the inverse
of R.

Range of Ris A.

R is reflexive and symmetric.

R is symmetric and transilive.

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice _ .
www.FirstRanker.com www.FirstRanker.com

A A={1,2,3} ¥l AW UF T=4 R =
‘&'mtrfiwfﬁﬁ%:

aRb = |a2—-b3=5

A1 fret § | =1 o9 9o T8 2 ?

R-1=R, &2l R~ 1, R =1 ufa«id

(inverse) gl

R 1 9 A 1
R TEqed a1 {HiAd 2

R THfHd q41 ST ¢ |

The locus of the point
z=x+iy (x,y e R, 1=+ 1} satisfying

.ar [z 3J=E*
5\Zz+3) 3%

a circle with radius | =2./3

sanlewithoenineat 13 D

T
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a circle with centre at (0, 2\5} and

40503637917, Tadius3

an e]]jpse with length of ils minor axis
iy

us g9 fowst 5= 2.3 21

w9 fomen =% (V3,0 2

e g9 o % (0, 243 ) qen o
321

U g T o7 S FT g 32
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Question Number : 3 Question Id : 40503610404 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

If both the roots of the equation,
x?—2ax +a®—1=0(ae R) lie in the interval
(—2, 2), then the equation,
x2—(a2+1)x—(a2+2)=0 has

both roots in (— 3, 0)

one root in (0, 2) and another root in
(—2,0)

one root in [2, 3) and another root in
(—2.0)

one rootin( — 3, — 2) and another root
in (0, 2]

Afg THF, x2-2ax+a2-1=0(ae R) &F

SFl gel, e (-2, 2) ° €, ° weEm
x2—(a?+1)x—(a2+2)=0:

¥

FSH gt (-3, 0) H T
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=1 UF 7 (0, 2) F 9 THA A (—2,0)
40503637920, H 2

F1UH q [2,3) H a9 A HA (—2,0)
i

FUF JA (-3, —2) 7 991 THA A
0,2] % &1

If the system of equations
x+y+pz=-—1
3x—-2y+z=q
5x —8y+9z=>5
has more than one solution, then q—p is

equal to :
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Question Number : 4 Question Id : 40503610405 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Afe T
2x+y+pz=-1
x—-2y+z=q
5x —8y+9z=>5

= =

FUFH ATHEAS, dq-p TR T :

All the words (with or without meaning)
formed using all the five letters of the word
GOING are arranged as in dictionary. Then
the word OGGIN occurs at the place which
is :
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th
40503637927, 49)
(9t

(GO

G

we2 GOING & 941 5 A% =1 TAF 3 g0
0 U Tt vI=e (91 9 FdEE 2 91 374 7
&), IEEHV F SATEAR =arke fHy T E @
g OGGIN 4= § 4 fof ™" W s ?

(48) =
(49) =i
(50) =i

(51) =
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Correct Marks : 4 Wrong Marks : 1

The sum

& i g 10 18 26

3 92
infinity, is equal to :

2
8

A7

24

11
24

w |

£

IR TS

"S AT S

2 2 10 18 2%

T E ;

— 4+ — + — 4
3 92 g3 ot ¢
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3
40503637931, 8

17

24

11
24

ol

Let r and s be respectively the remainders
when (12)* and (23)!? are divided by 5,
thenr+s isequal to:
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Question Number : 7 Question Id : 40503610408 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

=4 (12)2 qem (23) 12 %61 5 | farfsrd foan sman
T @ FEY: WIESA r A s B, o r+s AH

3

Let fbe a differentiable function satisfying
f(x+y)=flx)+fy)—xy forall x, ye R. If
i, F ) |

10
-=23,then } f(n) isequalto:

n=1

lim
h—o h
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THI f U STAHCHE Fed ¢ 5 T 1,1 ¢ R
T, flx +y) = f(x) + fy) — xy T Fg= F

gl qﬁ#ﬂ}'}%:}%’ﬁ ?;{n}w
T

n=1
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Question Number : 9 Question Id : 40503610410 Question Type : MCQ Option Shuffling : Yes Display Que
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

For non-zero real numbers a, b, if

y(x) = ——=—,x>0and y’(5)=0, then
x4

the ratina:bis:
.-J'g -3
..3 : w‘g

V5:43

Y andfas Gl a 9491 b % fog afe

a+bx? ,\
Y(x) = ——=—,x>0TM y'(5)=07%, @
x4
U a b FA T :
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40503637943, N3 3

IS:JE

V5:43

The function f(x)=sin2x+ 2cosx,
.;‘r: ( 3 3’:1'] ha
€ =y = B
TS

no critical point.

a point of local maxima and a p::rint

of local minima.

a point of local maxima and a point
of inflection.

a point of local minima and a pnint
of inflection.
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Question Number : 10 Question Id : 40503610411 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e f(x) =sin2x + 2cosx, xe [ % %}

E O
I it forg T 2
o ffes &
us fag T SfEw # A uw
AferafEd fag 2
uF fag wEE ffEs & a9 o
Aferafiad fag 2|

_ j cos>0 o
The integral sind(4 — 3 sin220) is
equal to :

(where C is a constant of integration)
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cc-55 B
—lo
5

i

5i.r15 0+ c055[3|

o
l ngE ﬁsm i _ Yo
24 sin® 0 + cos®H

1 | sin®0 |
+C
Be |sir15[! | c055{1|

1 5%
— log, ;m 3 W +C
6 sin” 0 + cos”d

s

40503637951.

5
cos i)
d0 e
j sin0(4 — 3 sin®20) ¥

(5@ C U% FHFeH A E 1)

1

5
s f)
ke —— | F C
b sin~ B + cos U|
1 sin® 0
lo : . +C
24 BE ciﬂﬁﬂ | r'ncﬁn
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1 | sin’0

— ngE
40503637953. lsin0 + cos0]

1 s°0
— log, ;m 3 W +C
6 sin” 0 + cos"f )

FC

The area (in sq. units) of the region bounded
by the parabolax =2y*and the linex + y=1

15 :

G|
12

93
24

we

W= | L1
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Question Number : 12 Question Id : 40503610413 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TEeE, x =2y 941 1, x +y=1 50 a5
25 1 Uel (97 SEEdl H) ®

1
12

3
24

we

W= | L1

Let y=y(x) be the solution of the differential

d
equation xlog, x ay F2y=2x (x >1), If

lim y(x) =1, then y(e?) is equal to :
r—1+
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40503637959, 2

e2 +1

AE y=y(x), FAFA HHHIO,

xlog, x gx—y +2y=2x{xl"1}$lﬂ?f%l?1ﬁ

lim y(x) =1 &, ?ﬁy(ez}ﬂ'{l?ﬂ%:

-1+
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40503637962, € + 1

If (:-;I., yl.}, i=1, 2, 3 are the vertices of an
equilateral triangle such that

(%, +3) 2+ (y; —4)%=(x, +3)% + (y,—4)2 =
(x3+3)2+ (y; —4)2, then the value of
1ty tY .

15
Xi +Xx3 +Xx3

4
3

0o | W

| G

W |
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Ifg T FHag By F o =g (v, ), i=1,
2,3 & fome fau

(x+3)2 + (y —4)?= (1 +3)7 + (y,~ 4)* =

vity2+ys
El
X1 +x3 +x3

(x3+3P+ (13-4 % @

HFI%:

W |

e | G
03 |

e |

[f tangent at [ to the circle

i, 43
V2' 2)
x2 4 y2= 1 is also a tangent to the circle
(x—a)? + (y —b)?>=1, then the ordered pair

Lo Tt mmen Ty o
(o Cor ot
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Options : |
(-2, V2)
40503637967. '
(-2, 242)
(2 242)
(-2, \2)

A yz=1a;m§[%, %]ww:ﬁﬁ

@A, (x —a)>+ (y— b)2 =1t TI9f T
%,ﬁ%ﬁﬁﬂ‘ﬂ(a,h}ﬁlm%:
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(-v2, v2)

40503637970.

The foci of a h}fperbola coincide with the
'xz 2
foci of the ellipse, T I _1.1f the

eccentricity of the hyperbola is 4, then its
equation is :

T
7 105 4
Sl .
7 105 16
2y 1
20 is) 16
g, b
5 i) 16
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Correct Marks : 4 Wrong Marks : 1
TF Afamaag & A9 F=, g,

2 2
%|%=1%W%W%lqﬁ
AfTRETT 1 Ieh=dl 4 €, 91 THH THEH
T
T |
7 105
il .
7 105 16
2 oy 1
0 75 16
o I
5 75 16

If the plane P:2x i+ 3z +5=0 is rotated

through 90° about its line of intersection
with the plane 5x —4y— 2z + 1=0, then the

egquation of the plane P in the new position

is : )
www.FirstRanker.com
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Options :

40503637975, /X 24y~ 26z+13=0

27x—24y—26z—-13=0
3x+2y—20z—-13=0

3lx 25y F20z4+13=0

Ffg A P : 2x—y+3z+5=0 H THIA
5x—4y —2z+1=0791 ¥9qa P &l Fid=sad
Y % WY 90° % IV W HMEN Sl 8, Al
4t feafa & ooae P o1 Tt ©

27x—24y—26z+13=0
27x—24y—26z—-13=0

Slx+2y—20z-13=0

3lx 25y F20z4+13=0
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Correct Marks : 4 Wrong Marks : 1
The top of two poles, standing 4 m apart
on a horizontal plane, are connected by a
cable. If the angles of depression from the
top of one pole to the bottom of another
pole are 30° and 45°, then the minimum
length (in m) of the cable is :

||32\a"§ 16

128 — 32 3

3
3

122 -323
3

112 -32.3
\ 3
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Afas 9t W 21 W 4 T F g W HY |
Z forF ol 1 UF F9 (cable) BRI =0
TR A TE TS F M TR e F
e W STEFEA F0 30° TA145° T A1 FHae Hi
g orerg (qf. #) #

||32~¢'§ 16
3

(128 - 32 /3
3

122 - 323
3

112 -32.3
3

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice

www.FirstRanker.com

Let A, B and C be three events such that

the probability of occurrence of exactly one

1
of A and B is 5 the probability of

occurrence of exactly one of B and C is i

and the probability of occurrence of exactly

1
one of C and A is e If the probability of

occurrence of all the three ewvents

1
simultaneously is 16" then the probability

that at least one of the three events will

OCCur is :

w|~

15
16

www.FirstRanker.com
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

AT &9 9298 A, B 991 C 39 UFH ® 6
= = = = (& 1
A ATB H ¥ 9 UF F 29 F gIaFd > ,
e m = = ~ 3
B A« C H 9 51 Us & 2 FI 9l + T,
e m e L . 1
aﬁicwanqmﬂwa?aﬁmmﬁlmg
| It 99 T2 e F UF 91 EH I WEEa
1 = L ne e me o m = =
ﬁ%,ﬂTE‘IﬂWHHSHHHWHEHTﬁ?EE
M F 9w B

ey
ﬂ~.|““~"

w|~1

15
16
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Let

p : I have passed JEE (Main),

q : My JEE (Main) rank is 100, and

r: I will appear in JEE (Advanced)

be three statements with truth values

T,F and T respectively. Then which one of
the following has the truth value, F 7

(~pv ~qnar
PA~Qv(~T)
~pv Qa(~D

(~prgvr
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Ikl
p : ¥4 JEE (Main) urg =2 fon 2,

q : ¥ JEE (Main) # ¥ (Rank) 100 & e
r : ¥ JEE (Advanced) =T Titeqm gm

& %y 2, o 9emE 99 T,Fagn T
A= A R g F 2

(~pv ~QAr

(PAr~qgv(~T1)

[~ Py @ii~T

(~prgvr
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' s R
LetB = { i 10 ] be the matrix obtained

by applying the elementary row operations
Ry »R,—R,, R, 2R, and
Ry — R;—2R, (in this order only) on a

malrix A. Then the sum of all entries of A

is

5 to0 5.002

Question Number : 21 Question Id : 40503610422 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

At ATE A W IRiEE ufe dfwans
Ry, ->R,-R,, R; — 2R, LE)
Ry =R, 2R, (Faa gHl 0 H) F W4 A
| 2
10

22 2 3 R
aqrzqu:[ﬁ }WW%,FHAH;

|l 319941 (entries) 1 AMTHA © |
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Possible Answers :
510 5.002

Question Number : 22 Question Id : 40503610423 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

For beN, if the limit of the function

| ([5x —4], x<4

f(x) = {[x +Db]
L 2

L)

., x>4

when y — 4, exists and [t] denotes the

greatest integer =t, then b is equal to

5t0 5.002

Question Number : 22 Question Id : 40503610423 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

beN % ferd, ®eM f(x) = { [x + b]
I
FI HIH TEAF s 4 T AT & S [t
TEwH YUl <t I ST €, o b GO ¥

, x>4

[[Bx —4], x <4
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 23 Question Id : 40503610424 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If S = {xe[0, 47]: sin2x — cosx = 0} and the
sum of the elements of S is ks, then k is

equal o

5t0 5.002

Question Number : 23 Question Id : 40503610424 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

g S = {xe[0, 47]: sin2x — cosx = 0} & q=m

Y= S F 9t SFFFE1 1 A0TFA kB, A1k

T |
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Text Areas : PlainText
Possible Answers :

5 to0 5.002

Question Number : 24 Question Id : 40503610425 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If the mean of the numbers

7, =5, —2,x,51s —1, then the variance

of the numbersx —3,4x, x +3is

5 to0 5.002

Question Number : 24 Question Id : 40503610425 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Afe d&msii -7, -5, -2, x, 5F = ~ 1%,
A GEms x—3, 4x, x+3 HT IEIO T
|

Unh

TAYAYa)
. UVUL
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Question Number : 25 Question Id : 40503610426 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If the equation ofa pla_ne | passing thrc-ugh

the point ? | ), | k is

r (2: ; I aﬁ’w =3, then the length of
8 s
the perpendicular from the point

4; ; + 3k on the plane P is

5t05.002

Question Number : 25 Question Id : 40503610426 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

e TF FHaE P, W g § 4 G4k WEE

STl & o THIE -[2? i aﬂ —ae
A

7 ] T 2 |
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
510 5.002

Aptitude Test
Section Id : 405036377
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 405036725
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 40503610427 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The 3 - D figure shows the view of an object
answer figures.
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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3 - D WY T | UF 9% F U gyd I G@E T | T WE S gy, ST ARl § 9
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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3 - D Y9 A § UF 9% F UF 399 F fo@mmn T ¥ cHE WE I 9v9, S nfadi 4 o
T |
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.
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3-D 9 AFE H UF 95 F UF 999 F fo@d T ¥ | THE WE S 39, S AF A 8 9
e |

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.

.-"-I-' .\x"-\.‘_
o -~
e 1
Ny
N
e S M
e .
-

. )
l_.-'ﬁ'\-\._.\‘ T L
g e, e b
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Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X?
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Which one of the answer [ igures is the correct mirror ima ge of the prnblem I igure with respect
toX-X7?
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Which one of the answer [ igures is the correct mirror irnage of the pr::rh lem [ igure with respect
toX-X?
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Which one of the answer [ igures is the correct mirror image of the pm‘ulem [ igure with respect
toX-X?
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Which one of the answer [ igures is the correct mirror irnage of the pmhlem [ igure with respect
toX-X?
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Find the odd [ igure out of the prnblem figures given below.
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A Firstranker's choice

40503638036.

Find the odd [ igure out of the prnhlem figures given below.
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40503638041.
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Find the odd [ igure oul of the prnhiem figures given below.
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www.FirstRanker.com

== <1 T 9 AfaEl | | faum e vente |

www.FirstRanker.com

www.FirstRanker.com



» FirstRanker.com

A Firstranker's choice )
www.FirstRanker.com
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Find the odd [ igure out of the prnblem figures given below.
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Find the odd [ igure out of the prnhlem figures given below.
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The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.
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Question Number : 42 Question Id : 40503610443 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.
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Question Number : 42 Question Id : 40503610443 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Question Number : 43 Question Id : 40503610444 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.
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40503638066.

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.
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The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.
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Question Number : 45 Question Id : 40503610446 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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40503638075.

Which one of the answer figure will complete the sequence of the three problem figures ?
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Question Number : 46 Question Id : 40503610447 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1

Which one of the answer ﬁgure will complete the sequence of the three prnblr_-m figurea ?

?

T SAFTE H W FA = SAF F A T AFGE H T H STTFA (sequence) T 2 SR ?
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Options :

40503638080.

Which one of the answer figure will complete the sequence of the three problem figures ?
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e 5

Which one of the answer figure will complete the sequence of the three problem figures ?
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Question Number : 50 Question Id : 40503610451 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figure will complete the sequence of the three problem figures ?
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The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 52 Question Id : 40503610453 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The 3 = D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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Question Number : 52 Question Id : 40503610453 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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—

40503638103.

The3-Df igure shows the view of an nbject. Identify the correct view in the direction of the
arrow, from amongst the answer figures
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40503638106.

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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40503638110.

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.
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40503638113.

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

7
.
.-"r' y r
7
s ,
— . ri

ﬂ \

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

40503638117.

WY ATHTT H A W HHI 59 faar T ¥ | AR i e H SEd gu IW gl § | 98 Ty
99 TR |

www.FirstRanker.com



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

40503638116.

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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Options :

40503638120.
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Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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Question Number : 58 Question Id : 40503610459 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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40503638127.

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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40503638129.
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The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.
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The White House is which one of the
following ?

Residence of Prime Minister of
Germany

Residence of Prime Minister of France

Residence of Prime Minister of Spain

www.FirstRanker.com

esidence of President of USA
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Question Number : 61 Question Id : 40503610462 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

=152 2y refafad 8§ 4 FH | e?
TEAT o FUHAT 1
I & YHEEAT F e
T & FIEEA 7 faE

T T AN & T2l F1 e

In the Northern Hemisphere the summer

sun rises from which one of the fﬂllnwf_ng
directions ?

MNorth East
MNorth West

South East
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40503638143, S0uth West
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In which of the following States is the
Golden Temple located ?

Haryana

Punjab
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40503638146, £1ssam

Nagaland

Treafafga § 4 #M 9 929 § = qie fuq

What is the thickness of a one and a half
brick thick wall ?

9”’
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40503638150, 18"

13.5"
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o
12"
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135"

Which one amongst the following supports
the masonry above doors and windows ?

Foundation

Lintel
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40503638154, 2lab

Wooden frame
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The Leaning Tower in [taly is located in
which one of the following cities ?

Florence
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40503638157, Venice
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Rome
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Which one of the garden of the following
is a terraced garden in 5rinagar ?

Nishat
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40503638161, Yrindaban

Buddha

MNehru
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What amongst the following is the name
of the famous museum in H}rderahad ?
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40503638164, alaknuma

Salarjung,

Gandhi

Nizam

Freferfad § & #1191 geUEe & 16s SR
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Which one of the color is made when blue

and yellow are mixed 7
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Options :

40503638168, Violet

Orange

Green

White

el AR T T F g A FA M T TAA 2 ?

Which one of the f::-]_lc-wing color suggests
love and romance ?
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40503638172, Dlue

Green
Pink

Brown
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Which one of the following suggests the
texture of the skin of the elderly persons ?

Glossy
Wrinkled
Smooth

Soft

= 8§ 4 F\ W g SAfaadl F1 o= i
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Correct Marks : 4 Wrong Marks : 1

Which one of the following is fixed to drain
water from a sloping roof ?

Ridge
Eave
J. Bolt

Gutter

=1 5 9 $19-91 U 51 F1 B4 9 fwed &
feru Forara o T 27
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Which one of the [ nﬂnwmg isideal [ Innrf_ng
for a cinema hall ?

Granite
Brick
Marble

Car pet

Frefafaa 3 I =m @ farm g F fou e
i E?
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Question Number : 74 Question Id : 40503610475 Question Type : MCQ Option Shuffling : Yes Display Qu
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Who among the following is the architect
of the Punjab Haryana High Court
Building ?

Maxwell Fry
Le Corbusier

Louis Kahn

Geoff rey Bawa
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40503638191. TSRT =Tl

Which one among, the r:-]]nwing is used for
water conservation ?

Water drainage
Water evaporation
Water harvesting

Water flowing
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40503638194, o1 HHEAT

A HATE

In the space provided for the answer of this
question, draw an aesthetic composition
appropriate to this space using triangles
and rectangles. There is no restriction to
numbers, sizes, placement and directions
of these shapes. Color this composition so
that it becomes visually exciting.
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Question Number : 76 Question Id : 40503610477 Question Type : SUBJECTIVE Display Question Numbc
Correct Marks : 50
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Draw from imagination a gardener

working in the garden.

OR
Draw from imagination a scene of a place
for praying.

OR

Draw from memory your best friends face.
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